BIC

5x10°

log[ Relative Probability ]

Window Half—Width (km/s)

2x108

108

2x10°

5

10

1000 10*

100

rm087 2/(409340 5132) 1.274
F———— +~ *~ T + T T " 1T - T T T T T T T 1 T T M
BIC 581 145 81 ABIC 0. OOO AlogP 0.0000
i x 514828.56 Ax 0.000 AlogP 0.0000 T
. _ _lBIC
- 1%
I 5132 ]
A
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
5 10 15 20 25 30
30 iterations
rm087 2/(409340 —5132)=1.274
— T ‘1 T T T T r T T T T T T 1 T T 1
L BIC 581 145 81 ABIC 0. OOO AlogP 0.0000 |
L x 514828.56 Ax 0.000 AlogP 0.0000 |
| l 5132 |
- A -
L L L L | L L L L | L L L L | L L L L | L L L L | L L L L |
5 10 15 20 25 30
30 iterations
Fe2 137% 660+0 km/s
rmQ087 BLR 6280 NLR 900 km/s
r—— - 1 r - T ' 1 - T T T T T T T T T U L N
- . . _1BR

30 iterations

kdh1 14-0ct-2021 13:45



